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1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH´$_mßH$ AdÌ` {bI|ü&
2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go D$na N>nr h°ü& Bg ~mV H$s

Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&
3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH´$_mßH$ {bIZo na narjmWu H$mo A`moΩ` R>ham`m Om òJmü&
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Ho$db AmnH$s hmoJrü&

314/HIS/106A [ P.T.O.

Roll No.
AZwH´$_mßH$

Set/goQ>  u



BI OL OGY (The ory)

Ord{dkmZ ({g’m›V)

(314)

Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has two options. Candidates are required to attempt questions

from one option only.

(iv) Maximum marks for each question has been indicated against it.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| Xmo$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

(iv) ‡À òH$ ‡ÌZ Ho$ A{YH$V_ AßH$ Cgr Ho$ gm_Zo {X ò J ò h¢ü&

SEC TION–A

I S>–A

1. Name any two greenhouse gases. 1

{H$›ht Xmo h[aVJ•h J°gm| Ho$ Zm_ ~VmBEü&

2. A particular plant hormone was used to increase the height of dwarf plants.

Which hormone was it? 1

EH$ {d{eÔ> nmXn hm∞_m}Z H$mo ~m°Zo nm°Ym| H$s D±$MmB© ~ãT>mZo Ho$ {bE ‡`w∫$ {H$`m J`mü& ~VmBE dh H$m°Z-gm 
hm∞_m}Z Wmü?

3. Draw the figure of an antibody and label the heavy and light chains of it. 1

EH$ ‡{Vajr H$m AmaoI ~ZmBE VWm CgH$s ^mar Edß hÎH$s ˚m•ßIbmAm| H$m Zm_mßH$Z H$s{OEü&

4. A cistronic DNA strand had the following base sequence :

A T G C G G C T A G A A T A T T C C A T G G C C

What would be the base se quence of the mRNA tran scribed from it? 1

{gÒQ¥>mo{ZH$ DNA Ho$ VßVw _| {ZÂZ{b{IV ~og H´$_ hmoVm h° Ö

A T G C G G C T A G A A T A T T C C A T G G C C

BgHo$ ¤mam AZwbo{IV mRNA H$m ~og H́$_ ä`m hmoJm?
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5. Classify the following into their kingdoms and mention the reason for

classification : 2

(a) Malarial parasite

(b) Pea plant

(c) Mushroom

(d) Sponge

{ZÂZ{b{IV Ordm| H$mo CZHo$ OJVm| _| dJuH•$V H$s{OE VWm dJuH•$V {H$E OmZo H$m H$maU ^r ~VmBE Ö

(H$) _bo[a`m naOrdr

(I) _Q>a H$m nm°Ym

(J) _eÍ$_

(K) ÒnßO

6. Make a diagrammatic sketch of ‘cell cycle’ and label its three phases. 2

"H$mo{eH$m-MH́$' H$m EH$ AmaoIr {MÃ ~ZmBE Am°a CgH$s VrZ ‡mdÒWmAm| H$m Zm_mßH$Z H$s{OEü&

7. Why is yeast needed in breweries? Provide a word equation to explain your

answer. 2

_⁄-{Z_m©UembmAm| _| `rÒQ> H$s ä`m| AmdÌ`H$Vm hmoVr h°? AnZo CŒma H$s Ï`mª`m H$aZo Ho$ {bE
e„X-g_rH$aU {b{IEü&

8. Draw an ecological pyramid showing energy flow and indicate its trophic levels.

Also write your conclusion drawn from the figure. 2

D$Om© ‡dmh Am°a nmofU ÒVam| H$mo Bß{JV H$aZo dmbm EH$ nm[apÒW{VH$s` {na°{_S> ~ZmBEü& {MÃ go ‡m·
{H$E JE AnZo {ZÓH$f© ^r {b{IEü&

9. Why is it that an AIDS patient loses immunity against several diseases? 2

Eogm ä`m| hmoVm h° {H$ AIDS Ho$ amoJr H$s AZoH$ amoJm| Ho$ {bE ‡{Vajm ZÔ> hmo OmVr h°?

10. Construct a diagram to show that DNA undergoes semidiscontinuous

replication. Label only the replication fork and replicated DNA strands.

(No need to mention base sequence in the figure.) 2

`h Xem©Zo Ho$ {bE {H$ DNA AY©{dp¿N>fi ‡H$ma H$m hmoVm h°, EH$ AmaoI ~ZmBEü& Ho$db ‡{VH•${V
emIm Am°a ‡{VH•$V DNA aÇmw H$m hr Zm_mßH$Z H$s{OE ({MÃ _| ~og H´$_ H$s MMm© H$aZo H$s
AmdÌ`H$Vm Zht h°)ü&

11. State the differences between DNA and RNA with regard to the kinds of sugar

and pyrimidine bases. Also express the functions of the three types of RNA. 4

eH©$am Ho$ ‡H$ma Am°a {n[a{_S>rZ ~ogm| Ho$ gßX^© _| DNA Am°a RNA _| AßVa ~VmBEü& gmW hr VrZ
‡H$ma Ho$ RNA Ho$ H$m`m] H$s ^r MMm© H$s{OEü&
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12. How do humans see an object with the help of their eyes? 4

_ZwÓ` AnZr$ Am±I go {H$gr dÒVw H$mo {H$g ‡H$ma XoI boVo h¢?

13. Environmentalists are worried about frequent occurrence of typhoons and

cloudbursts, increase in surface temperature of the sea etc., and attribute them 

to climate change. Explain, in detail, the phenomenon responsible for climate

change. 4

n`m©daU{dX≤ AH≤$ga AmZo dmbo Q>mB\y$Zm| Am°a AmH$me \$Q>Zo, g_w– Ho$ gVhr Vmn_mZ H$s d•{’, Am{X H$mo 
boH$a qM{VV h¢ Am°a do BZHo$ {bE Obdm`w n[adV©Z H$mo {OÂ_odma _mZVo h¢ü& Obdm ẁ n[adV©Z Ho$ {bE
CŒmaXm`r n[aKQ>Zm H$s {dÒVma go Ï`mª`m H$s{OEü&

14. A person was complaining of excessive dilute urination. The doctor diagnosed it 

to be due to reduced production of ADH. How would an increased level of ADH

in the blood correct the condition of the patient? 4

{H$gr Ï`{∫$ H$mo AÀ`{YH$ _mÃm _| VZw _yÃ H$s {eH$m`V h°ü& {M{H$ÀgH$ Zo BgHo$ {ZXmZ Ho$ Í$n _|
~Vm`m {H$ `h ADH Ho$ CÀnmXZ _| H$_r Am OmZo Ho$ H$maU hmo ahm h°ü& È{Ya _| ADH Ho$ ÒVa _|
d•{’ hmoZo na amoJr H$s `h pÒW{V {H$g ‡H$ma ghr hmoJr?

15. An example of Natural Selection is industrial melanism. Give suitable answer to 

the following questions on industrial melanism : 4

(a) Before industrial revolution, which variety of the peppered moth could be

easily detected by the birds and eaten up?

(b) How did this variety arise and why was it detected by the birds easily?

(c) Why did this variety increase after industrial revolution?

(d) What role did Natural Selection play in this increase?

‡mH•${VH$ daU H$m EH$ CXmhaU h° Am°⁄mo{JH$ A{VH•$ÓUVmü& Am°⁄mo{JH$ A{VH•$ÓUVm na nyN>o J`o
{ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE Ö

(H$) Am°⁄mo{JH$ H´$mß{V go nyd© nonS>© eb^ H$s {H$g {H$Ò_ H$m njr AmgmZr go nVm bJm boVo Wo Am°a 
Im OmVo Wo?

(I) `h {H$Ò_ {H$g ‡H$ma CÀnfi h˛B© Am°a njr BgH$s nhMmZ AmgmZr go {H$g ‡H$ma H$aZo bJo?

(J) Am°⁄mo{JH$ H´$mß{V Ho$ nÌMmV≤ Bg {H$Ò_ H$s gßª`m ä`m| ~ãT> J`r?

(K) Bg d•{’ _| ‡mH•${VH$ daU H$s ä`m ŷ{_H$m ahr?
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16. Given below is a flowchart presenting the ‘types of plant tissues’ :

Fill in the blanks la belled as 1, 2, 3 and 4. Write the an swer in your

an swer-book. State their lo ca tions in the plant and their func tions. 4

ZrMo ‡dmh-MmQ>© _| nmXn D$VH$m| Ho$ {d{^fi ‡H$mam| H$mo {XIbm`m J`m h°ü:

1, 2, 3 Am°a 4 ZÂ~a go {XImE JE ~m∞ägm| _| [a∫$ ÒWmZm| H$s ny{V© H$s{OEü& CŒma AnZr
CŒma-nwpÒVH$m _| {b{IEü& nm°Ym| _| BZ D$VH$m| H$s pÒW{V VWm BZHo$ H$m`© ~VmBEü&

17. What is the advantage of cross-pollination over self-pollination? State three

adaptations in plants which promote cross-pollination. 4

ÒdnamJU H$s Anojm nanamJU ä`m| bm^Xm`H$ h°? CZ nm°Ym| Ho$ VrZ AZwHy$bZ ~VmBE {OZHo$ H$maU
CZ_| nanamJU gß^d hmoVm h°ü&

18. (a) Give an account of those events of photosynthesis which occur in the

presence of sunlight.

(b) What is fermentation? Mention four industrial applications of

fermentation.

(c) How do stomata open for transpiration? 6

(H$) ‡H$me-gßÌbofU H$s CZ KQ>ZmAm| H$m {ddaU ‡ÒVwV H$s{OE Omo gy`© Ho$ ‡H$me _| hmoVr h¢ü&

(I) {H$ dZ ä`m hmoVm h°? {H$ dZ Ho$ Mma Am°⁄mo{JH$ AZw‡`moJ ~VmBEü&

(J) dmÓnmoÀgO©Z Ho$ {bE aßY´ H°$go IwbVo h¢?
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19. (a) Why is a human female termed as ‘homogametic’? State, in two

sentences, why she should not be blamed for the sex of her child.

(b) What does adolescence mean? State one physical change in a boy and one

in a girl by which they can easily be identified as adolescents. 6

(H$) Ûr H$mo "g_`wΩ_H$s' ä`m| H$hm OmVm h°? Xmo dmä`m| _| ~VmBE {H$ _{hbm H$mo CgHo$ ~Éo Ho$ qbJ 
Ho$ {bE Xmofr ä`m| Zht _mZZm Mm{hEü&

(I) {H$emoamdÒWm go AmnH$m ä`m VmÀn`© h°? EH$ bãS>Ho$ Am°a EH$ bãS>H$s _| EH$ emar[aH$ bjU
~VmBE {Oggo C›h| AmgmZr go {H$emoa Ho$ Í$n _| nhMmZm Om gHo$ü&

20. (a) State four human activities which have endangered the lives of wild

animals and caused biodiversity loss.

(b) Identify four nonconventional energy resources from the following and

write about them in brief :

  Coal,  Hy dro gen,  CNG,  LPG,  Biofuel,  Petroleum 6

(H$) CZ Mma _mZd {H´$`mH$bmnm| H$mo ~VmBE {OZHo$ H$maU d›`-‡m{U`m| H$m OrdZ IVao _| nãS> J`m h° 
VWm O°d{d{dYVm H$m ^r ımg h˛Am h°ü&

(I) {ZÂZ{b{IV _| go Mma D$Om© Ho$ µJ°a-naßnamJV gßgmYZm| H$mo nhMm{ZE Am°a CZHo$ ~mao _| gßjon _|
{b{IEü:

Coal,  Hy dro gen,  CNG,  LPG,  Biofuel,  Pe tro leum

21. (a) From which parts of the human digestive system are the following

enzymes secreted?

 (i) Pep sin

(ii) Lactase

Men tion their di ges tive ac tion.

(b) Mention any four enzymes found in the pancreatic juice and give their

functions. 6

(H$) {ZÂZ{b{IV EßOmB_m| H$m Úmd _ZwÓ` Ho$ nmMZ-VßÃ Ho$ {H$g ^mJ go hmoVm h°?

(i) nopflgZ

(ii) b°äQ>oµO

BZH$s nmMZ-{H´$`m H$s MMm© H$s{OEü&

(I) AΩ›`me` ag _| nmE OmZo dmbo H$moB© Mma EßµOmB_m| H$s MMm© H$s{OE VWm CZHo$ H$m`© ~VmBEü&
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SEC TION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Tools and Tech niques in Bi ol ogy )

( Ord{dkmZ _| `ßÃ Edß VH$ZrH|$ )
22. Define resolving power and magnification of a microscope. 1

gy˙_Xeu (mi cro scope) H$s {d^oXZ j_Vm Edß AmdY©Z j_Vm H$s n[a^mfm {b{IEü&

23. You want to culture Paramecium in the laboratory. Which material would you

take to start with? 1

Amn ‡`moJembm _| n°am_r{e`_ H$m gßdY© V°`ma H$aZm MmhVo h¢ü& Bg H$m ©̀ H$m Amaß^ H$aZo Ho$ {bE
g~go nhbo Amn ä`m gm_J´r b|Jo?

24. A boy collected many kinds of butterfly. What all will he need to preserve and

display them? 2

EH$ ~Éo Zo AZoH$ ‡H$ma H$s {VV{b`m± EH${ÃV H$s h¢ü& CZH$m n[aajU H$aZo VWm CZH$m ‡Xe©Z H$aZo Ho$ 
{bE Cgo ä`m H$aZm hmoJm?

25. (a) To what use are the following put?

(i) Aliz a rin

(ii) For ma lin

(b) Why are dried and pressed plants stored among paper sheets? State the

precaution required for such a storage. 4

(H$) {ZÂZ{b{IV go ä`m H$m_ {b`m OmVm h°?

(i) Eo{bµO[aZ

(ii) µ\$m∞_£{bZ

(I) gwImE JE Am°a X~mH$ma aIo JE nm°Ym| H$mo AI~ma Ho$ nfim| Ho$ ~rM ä`m| aIm OmVm h°? Bg
‡H$ma Ho$ ^ßS>maU Ho$ {bE Amn ä`m nydm}nm` H$a|Jo?

26. State the dif fer ences be tween the fol low ing pairs of terms :

(a) Vasculum and plant press with regard to—

(i) ma te rial of which these are made;

(ii) pos si bil ity of car ry ing on the shoul der (por ta ble);

(b) National Botanical Garden and School Botanical Garden with respect to—

(i) kinds of plant grown;

(ii) size of the gar den. 4
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{ZÂZ{b{IV nX-`wΩ_m| _| A›Va ~VmBE Ö

(H$) d°ÒHw$b_ Am°a nmXn-‡og _| A›Vaçç

(i) dh nXmW© {Oggo do ~Zo h¢;

(ii) Hß$Yo na CR>mH$a C›h| bmZo-bo OmZo H$s gß^mdZm;

Ho$ g›X^© _|ü&

(I) amÔ¥>r` nmXn C⁄mZ Am°a ÒHy$br nmXn C⁄mZ _| A›Vaçç

(i) nmXnm| Ho$ ‡H$mam| H$mo CJmE OmZo;

(ii) C⁄mZ Ho$ AmH$ma;

Ho$ g›X^© _|ü&

OP TION–II

{dH$ÎnçII

( Eco nomic Bi ol ogy )

( Am{W©H$ Ord{dkmZ )
22. What is an estuary? Name an estuarine (brackish water) fish. 1

¡dmaZX_wI ä`m hmoVm h°? ¡dmaZX_wI (Imao nmZr) _| nmB© OmZo dmbr EH$ _N>br H$m Zm_ ~VmBEü&
23. Show a plant growing without soil only by a diagram. 1

_•Xm Ho$ ~µJ°a CJmE JE {H$gr nm°Yo H$m Ho$db {MÃ ~ZmBEü&
24. A farmer had grown beans between two crops to make the soil fertile. How did

the beans make the soil fertile? 2

_•Xm H$mo Cd©a ~ZmZo H$s Zr`V go EH$ {H$gmZ Zo Xmo \$gbm| Ho$ ~rM EH$ \$brXma \$gb CJm`rü& \$brXma 
\$gb Ho$ H$maU IoV H$s ^y{_ Cd©a H°$go hmo J`r?

25. (a) Why are cocoons cooked in hot water for getting silk fibres?

(b) What is the role of crawlers in production of lac?

(c) What is floriculture? How is it different from pisciculture? 4

(H$) aoe_ Ho$ YmJo ‡m· H$aZo Ho$ {bE Hw$Hw$Zm| H$mo J_© nmZr _| ä`m| C~mbm OmVm h°?

(I) bmI-CÀnmXZ _| H´$m∞bam| H$s ä`m ŷ{_H$m hmoVr h°?

(J) nwÓnH•${f ä`m hmoVr h°? `h _ÀÒ`nmbZ go {H$g ‡H$ma {^fi hmoVr h°?

26. (a) How does algal bloom become responsible for the death of aquatic

organisms?

(b) Quote a case as evidence for the fact that aquaculture has suffered due to

water pollution. 4

(H$) e°dmb-‡Ò\w$Q>Z Obr` Ordm| H$s _•À`w Ho$ {bE {H$g ‡H$ma CŒmaXm`r h°?

(I) EH$ KQ>Zm H$mo gm˙` Ho$ Í$n _| {bIVo h˛E ~VmBE {H$ ObH•${f, Ob ‡XyfU Ho$ H$maU ‡^m{dV
h˛B© h°ü&

H H H
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